L Time Allowed B s
: ﬁvﬁ‘&rw (2 gue’

Rcad the followmg m.struchons ca.refu.lly' bcfore you begin to puswer thc que.ghon.q
9 : Thls ‘booklet contains questmnam Engl:sh as wcll as in Hindi.

nﬁﬂ;awéﬁﬁuﬁﬁﬁﬁrﬁwaﬁaﬁﬁmﬁmﬁt
stﬁm'ﬂmmmﬁﬁﬁﬁﬁﬁﬂnaal

Maxlmum Marks 200

i 37 200 -

i :homspond 7 '_

110,

11.

ilﬂSTHUGTICINS 0 CANDIDATES ’

oy

oklel conlam.'? 200 quesﬂum in all :ompnsmg the
pihree tests :

Test (i) GencmllnulhgmandRcmmng {SﬂQueshons)'

(i) : Gencrnl Avareness .

‘(I]lj z - Pan (ﬁ) General Englmng
{Cwn!mdsmmral)

u;:siwns are cnmpulsory and qmy cqml marks.

(50 Questions)

o start to’ :u.wrer tl:: ‘questions you must check op
his: Ipoklet nud cnsure fbal it contains all the pages (1-44),

efect Ia this '.Bap'k ust gel it veplaced bnmedlately,

irlp ofﬂ}s marks fw’ eoch wrong

Answer- Sﬁccf scparulely by the-
plete and code the dewails of Pos,

amr, chker Num:r, Roll preaarrirew and Test Form Number

5 béfore you aciually sian

2 bis s# Pul your signajure on the
Answcr-sbu;l El '.hc pn:scri t. These instruclions must be

fully complied with, fuiting whu:h your Answer-Sheel will not

- be evaluated apd you will be awarded “ZERO' mark. A machine

‘will read ‘the coded information in the OMR Answer-Sheel. In
case the infdrmation s incomplerc/differcm  frem  the
l{l!'um:uon given in the application ferm. the candidature of
such candidate will be treated as cancelled.

Answers mu."l.l(c shown by completely blackening the
E, glcs on Side-1I of the Answer-Sheel against
o by HB pencil only, Answérs which
P ncll wifl rmbc awnrded any mark,

1111;51 be: hmr]"ed over to lhc Invigilator be fore
ll:e‘F_xa:mmImn Hi]l. ’

Fnllnra io :nm];ly mih any of the above instructions will
render.a nndidnle liable'to such action/penalty as may be
d:emed fit, i .

The-manner i in whu:h the différent qucslmns are 10 be answered |
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¥eles T 3% & forw 0-25 7 @9 [ 710 | :
Prilers gra ama er-ofer 3m @ A 5 1 vl & 3w
mmﬁ&ﬁmﬂwﬁlmmwﬁahsmlﬂm
B FRIR I 2, 779, R 77, 0 7w am S wid
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fea sme, 3rorn s e-afinet @ St 98 sem 3k
P 3 R swem | h.onsiR. sovoRien & w9 w e
A B TE T 9o 1 uiX u‘-rrargdimsaﬁzqm
;gmgmﬂﬁma 1 ¥ anadl @ snafi Prea e

I-uiE@1 3 i 393 Side-1l 3 w1 wew ¥ WA kA W
Wl uadR Tl @) HB- e 3 Q@ o o s
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*'—Hx‘—bun,exﬂama o1 1he back of 1his Booklel (Page No, 44),

which y6ir should read c:m:ﬁﬂly before petually answering |he
qur:ﬂwns.

Answer the questions as quickly and as carefully as you can.
Saine questions ‘may be difficult and others casy. Do nol spend
too much time on any.question,

No rough work iy to be dooc oo the Answcr-s‘hecl. Space
for rau;h work has been provided below the questions in

Tesi (1) and (iii) of thns Bwklel_
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CTRINE TN 4]

DT OTREP () |
GENERAL INTELLIGENCE AND REASON].N’G
rcctwns In questwns no. 1 to 8, selecr ‘the |Directions : In questions no. 9. t0 15 ﬁnd tkeodd
'ated lettersl' word!hum?acr/ﬁgure from the 8109?1 number/letters/ number pmrf word fmm the gwen
f.rrmtwes
ultematwes -
ECA : KIG : QOM i : ;
A) WUS— (B) SUW , L 2y e B, S5
©) vwy " (D). RTV 9. (A 5 o (B) .
ABNO : CDPQ:: ERRS: ? (©) 64 iy der i
(A) IVKS (B) GITV. ) o
© JWXY (D) (GHTU o .t e
: j (©) 17-279 (D) 13169 -
: . (A) Jacket (BY Clith
Answer figures : - " ; (C) Shirt - (D) 'I'}nusers
© (@) e
L i 7 ¢ . 5 MY
A (B © M g ks ke g
WASH : CLOTH : : SWEEP : ? () Garbage — Dustbin a8
(A) FACE (B). .FLOOR ' : .
(C) PEON (D) SWEEPER (P caly Pencil zf?,
KEY : LOCK : : SWITCH : ? « ‘ 123
{A) BOARD | (B) FAN 13. (A) KMN (B) GHI1 i
(C) ELECTRICITY (D) ON '
(C) DrG (D) OQR
324 : CBD : : 456 : ?
(A) DEF (B) FED
(C) FDE (D) EFD 14. (A) BDCB (1_3) CDEC
9:80::100: 72 % (C) i GHIG (D) PQ RP
(A) 901 (B) 1009 %,
(C) 9889 (D) - 9999 4
56:29::38.:7 p _ 15. (A) 589, (B) 886
(A) 20 (B) 10 . : '
©) 18 D) 21 it SRR . Qo
I N SPACE FOR ROUGH WORK
011/Page 2.
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o B G e e N1 B W B LAY
o T I o N I 4
po o Y wpaR.g)? 100 10 -
ﬁatw mmz#s# mwﬁm##ﬁzﬁ stﬁlsﬁﬁﬁﬂ‘wﬁmﬁﬁ
w: : N\ demysmdEn e 9w -
KIG Q |p - .
(B) SUW 0»3;”’ -l .
fté UWY .~ (D). RTV " S 19 AV B @) 144y
\/ VKBNO: CDPQ {: EFRS 2. . - .- |
. ; el - (C) 64 ®) 121 - S5
o wEsS o ®) gm' R . Y
_‘ (C) _Jijy @r BIU o o) - P74 T
g - : . |10, ) 8-64 (B) 12-144-- Uk
Lol e oo sae
e e | 11 '(A_} ke \_@/ﬁ /
:' B LA < N © wE . o yere
. . . )b o -
o == U B
: A) (B) (Cy (D) -
4, O ;9 m\{;’/ e \M??T‘ fg:”
(A) G- hadt e _3
(C) I (D) - Aga @ i
5. OE : Www : : fEd o 2 ; TS 189
Ay o (B) @ {18. (A) KMN W}{I
©) fasrl (D) 33 1 (C) DFG (D) OQR
6. ~324:CBD::456:7? : YU ) v e
&y~ DEF (B) FED
- (C) FDE (D) EFD 4. (A) CB (B) GDEC
7. 9:80::100:7? GH )
G B g S Vae o we
(C) 9889 . (D) 9999 . -
8. 56:29::33:7 15. (A) 589 %'~ (B) 886 2\~
LAY 20 : (B) 10 o _ .
el on o P ol N
59-1 > T et e
&®» Yo-1=74
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Wblch one’ of the given responses wcm]d be IB -Whu:h one of the gwen ru.Sponses would be a.
Enghah chctmnnry orcler of the fol!owxng . meamngﬁﬂ 0rder of the following words ?
words 7., _ v X Stem -7 8 wTegh
. -Pgss‘port- 2. Picture - -] 8 TFlower ° 4. Root
3. Package 4. Patience - 5. Bud .. e,
"'5‘.,b"'Pa\a‘oa - g e BT T 4,12 5 3 B 31,425
S, %3, 45 . B 514,32 | ©OL 29,64, M 21,34 .
e . L o | |Directions: (Questzons no. 19 to 33). A’ senes is
. ,(C).:.-2 5 1 4, 3 - (D) 3,5 1,4, 2. given: with one term missing. Choose the. éorrect '
: _ : i a!terna!we ﬁvm the gmen ones that wdi comp!ete the
* 17, A series of figures are given ﬁhic,h- can be fmes 5] 2w &) C ' .
grouped into classes. Select’ the group into 19 Q“e‘?“o’?l‘ﬁgj‘:ﬁ_?
~ .. which the-figures can be’classified from the | = M : e | ! i
given responses. ’ @
1 o ; y & AN @ @
; 4 N ’ (A) (B) .
| . 20. R, U X A D,? '
4 5 6 - (A) F B G
_ ' & (C) H (D) 1
1 - 21. AFK, EJO, INS, ? E; !
(A) CGL ~ (B) MRW
) (C) GIJ (D) TWZ
7 8 A 220 2,14,38, 7, 182, 374 -8
(A) 2,36 1,49 578 ‘ @) 9% CoB e Y
- - B ' (C) 86 (@) 106 " : k\
B 588% 256% 409 23. 3, 4,12, 13, 39, 40, 120, 7, 7 -
© 1,47 23,6 5809 (A) 121,863 (B) 121,343 ;S
D E46 23,9 57,8 o | (C)-360,-121 0 (D)--360,-361 . i ¥
' ‘ SPACE FOR ROUGH WORK’ &
ASC 2011/Page 4.
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- foreey AR |18, mmﬁmfiﬂaﬁq-m fﬁt—qﬂ%ﬁqm
.!_E:. i...-:'i I . _-[“i 3 Pt =] H: Hﬁizﬁ W zmiq:rr o s

: Passpnrt 2. Picture Lo 2. w
. b v v - o 3._ . -
3 'Pé'cknge ' 4.  Patience g .4 513'
0 o “Pllace gt b UM/4 1,253 (B 314,25
.‘T{(h)' 123,45 ® 51,432 | © L2354 ® 21,345
i (_QJ .25143 (D/3~5142 ﬁé%r (O G5 19 9 29). TF g Rt § R

@Wﬁﬁ?lﬁqwfdﬂﬁﬁwwﬁwgﬁ

bl

3 | T A w5 TR
mmaﬂsﬂ?m

| ; ,.@ e

7 ®) © (D)
20, R.U,X, A D,?
2} 2
A "W @
: (© H @O I _
21. ,AF% EJO, INS, ? 12 18 23
¢ ' 1
- @A) CGL® 2O™M'3 W
' 8 w3 D (C)N\GIJ (D) TWZ
o 22. 214,38, 7, 182, 374 gevz |
(A) 2,36 12459" 578 (A) 96 (B) 116 T
L g ) r . e
S50 (B) 1,88 25,7 4,69 " oadh (D) 106 576,
L b i 23. 20, ?, 7' L YY)
.8 © 1,417 236 5809 Wm} z
e, o - - 1, 343
f » i I
E - D) LR 5,8 0,18 _ (C) 360,121 (D) 360,361 2%
. E @ s ¥ fre smE
E
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D"‘e@fmm (Questmn. no. 24). thch one set of
letters  when sequen:zat!y placed at the gaps in the
. E‘Wﬁ letter series shall comple!e it 2 '

29,

Mr. Rao. is"12 times 45 old as.his son. After
-8 years, Mr. Rao will be 4 times as old as his
- son.. What is the prcsent age of Mr. Rao ?

. % ‘)’ 48 years (B) 32 years
< Par_qrqrm - (C) 36 years (D) 40 years
(A} TPPP (B) "_Prp--,_-_-'\ 30. Mohan ranks thirteenth in a class of twenty
(C) rpqr. o (D) rppr - - students What is his rank from ll;ebottnm 7
e ‘ B s @w 7 - (B) 6
25. I;ileah wnlked 3 km west and .turned right.| - (G 8 . (D) 9
. ed left and | -
Wa‘lkegdm; w}ike;&:all;? Iiett“urfed 1:11 ond [31. The - average nge ‘of 8 members of a
walked: 9’ ol InQhich d:rechan i Nﬂeah ;‘_.mmzmttce was: 40" years. If an old mamber
 from the starting point ? of 55. yea.rs ret:res and a new memher of
: N | . ‘39 years is. admitted, what is the average
_(A) South, - (B\) North ™ . _age of the present committee ?
(©) West (D)« East (A) - 39 years ~(B) 38 years.
26. In the iorning " at® am., Andop walkea| =~ (@ 36vears - (D) 35 years
_ 50 m towards the sun, then turned right and |32. _II‘ ‘CODING’ is written as ‘EQFKPT in n
walked 40 m, then again turned right and certain’ code, how would ‘DECODE’ . be
walked 20 m, then again turned right and written in that code ? b S
walked 40 m. How many metres i§ he from (A) FGEQGF (B) FGEQFG
his Original pg"sition ? “ (C) FGEQEF (D) GEFQFG |
(A) 20 -mle-t:;s (B) 30 metres 4 |33. Ifina certain code “TWENTY” is wnﬂ.en as
© 501.’net.res . D) 60wl 863985, “ELEVEN” is written as 3230839,
how is “TWELVE” written in that code ?
27. Of the five members of an interview (A) 863203 (B) 863584
committee sitting in a row, B is left to E but (C) 863903 (D) 863063 *
right to A. D is sitting right to C but left to s )
A. Find the one sitfing in tbe middle. 34. Rashmi is younger to Sunita but older to
N : ’ Radha. Radha is _elder to Geeta. Shyam is
(4) B B) A elder to Radha but younger to Rashmi, Who
€ b (D) C “is'the youngest amongst them ?
: . ; ; (A) Radha (B) Geeta
28, :::::3 n'L‘lm_ber is wrong io the given (C)" Rashmi (D) Shysm
e ; 35. Ais B’s son. C’s father is F. F is D’s son and
5,10, 19, 29, 41, 55 B is D’s daughter. How is-A relatad to F ?
W 4 - ®) 55 (A) Nephew (B) Niece
A R (C) Cousin, (D) Sonindaw
; SPACE FOR ROUGH WORK
T
P A g £
P 4,02 [{L
3,
)
8
~N T
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25,

- VD

ﬁ.
wA-8 + Q’*G‘)u

| ﬁnq;mﬁ?ﬂmﬁmwaé%l g

frer (. G 24). SR -F F-w G @A) 29.
| mwmm#anﬁmmﬁw- mﬁmmﬂ’ﬂ“ﬁﬁm'ﬁmﬁ
K 10/ P ; - SR sy a2
- f ' o (A) 48 =9 - (®B) 32 o
24. pq_r_q_r.qrr O 36 af (D) 40 af
L@ e @y b 30.. A Ffidl % 3 Mer v ¥-Aed @
"'tC) ar ® rpprt _ m%uﬁ%ﬁammﬁ'—lm% ? K.
| 1 @war. . ® s
B (D) 9
_Wwiﬁmé‘?ﬁ’wa}‘wms;. @Wﬁ%a?ﬁ@fﬂaﬂwmﬂ.; at
45 T R 2 R Sen ) A AR THi5s A R R v Vb A I 3
5 Fft s 1 i A o 9 A et ol 2 P | 3 Twg0'ad H T weE Wi @ 2, @
'mtmmmﬂmmﬁ%? aﬁmaﬁﬁaﬁﬁaﬁaﬂgw%? ; :
" (A <R ® - (A) - 39:2 By 38 a4
(@ e ) , (C) 36 (D) 35T
IV 4 32. “at‘aqa:izmmﬁ ‘CODING' # ‘EQFKPT feran
26. gaseﬁﬁwqff?i’raﬂtaiﬁfsoﬁf ¢, @ DECODE'# 39 gz Wil & 3 fewear
we, Tl et 3R 40 M wem, TR <A T AT 2 FLEOF
3R 20 R, Fe, fX < g3 40 @ A | @ (A) FGEQGF (B}{Ec;m
A3 Wi D e R R 2 (C) FGEQEF (D) GEFQFG. -
. G SN 33. I FRll g2 T F “TWENTY" 9 863985
Ay 20 M Mo_‘ﬁa 8 . fer@n g Sik “ELEVEN" 91 323039 fagr wi,
(€) 50 T (D) 603 & 39 T WA “TWELVE” @ frg SR faran
27, H s ¥ 3 @ W W ¥ e w0 L2 il
F ¥ B IREEF TR ol 3k AT L——(’I~‘[ﬁi-63203 (B) 863584
Dﬂa%c%maﬂth%maﬂtifm (C) 863903 % tD} 863063
' mrr'ﬁmﬁaﬂ | v, m?{wbw
(A) B \(BYA qﬁq%zﬁaﬁm'ﬂaﬂmiﬁa@q 0%
© D D ¢ A) RV g >
_ s i ) © vm (D) vam |
“ ﬁu{q .0 aﬂqlﬂdwzmaré 35. AR BH cmﬁrars*%n;‘ . -__,:infra:x
5%’119 29“1” 3 SRBEHREIDN 1 AwFA 4y ? 2
(A) 41 _‘11 e (B) 55 Mqﬁ“ : (B) m—;,-ﬁ
(©. 29 @ e _(C) w%u e D wm
' =% e ttsard'asﬁ‘yam |
l..s =5 Sua
,,//3[ / Y )
%0,% _Do psimss BRI
o \'l..‘\( ; Z F.,-g::.d‘“'
5 3 = S\ Mﬂ Cogpe® S > Pt~
¥5° Sl b \g&aﬂz_/-/p
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36. A word given in capital letters is followed by-|39. - Statements : .
. four answer words. Out of these only, one 4

cannot bé formed by using the letters of the | - 1. Madhuriis bEall:tlﬁJl
- given word. Find out that -word: A 2. Shecan dunce
g " AWARENESS TR Conclusions :
(A) AWARE ' '(B) NEBAR " - : L Dancers are beautiful,
_(C) SENSE . .(D) NEST : i ' _ .. Beautxfu] women a:a danc.ers
37, Chduse’ one word out of the. given : HI " _gomel_bcaut}ﬁﬂ mecn_ czn. also
TN a]ternahveg which can_ be formed from tl:_ne v 8 % B ance. .

Tetters of the word REFRIGERATOR.:  '-[*- * "IV." ifugly] one can't da.nce
_(A)[ RANGER (B) REMOTE - (A) Al are true -

(© RATION . «D) REFER . | B None is true

D:reehons : In .questioris no. 38 and 39, twolone fg; g:lli ;'Iil;:r::e

statement(s) are given followed by ,four/two

conclusions/assumptions respectively, You have to |Directions : : In rhe following question, thera;s an
f.'On.Sl,der the two sgmmgnts to be true even if mgy address whu:h has been reproduced against (A), (B),
seeni to be at variance from commoenly known facts. |(C) and (D) three of which have some mistakes or
You have to decuie ‘which® of the given the other. The one without any mistake is your

conclusions/ asstimptions, :f any, follow from the |answer. .
gwen statements

[]

_ 40. Ram Mohan S.B. °
38.  Statement : ' ;. Z Raj Plaza, LBS Marg

- " Vikroli West, Mumbai — 400083
Teachers who work towards excellence '

are eligible for the award. G _Rama Mohan S.B.
~ Raj Plaza, LBS Marg
Vikroli West, Mumbai — 400083

(B) Ram Mohan B.S.

Assumptions :

I.  All teachers work hard.

II. Only the excellent work s Raj Plaza, LBS Marg
rewarded. Vikroli West, Mumbai — 400083
(A) Assumption I is implicit ; (€) Ram Mohan S.B,
. W ' Ra4j Plaza, LSB M
(B) ‘Assumptioi II is implicit - i Tioxa arg

Vikroli West, Mumbai - 400083

(Cy Assumptions I and II are ;__mphc:t Oy Rarm Mohan S.B.
(D) Neither I nor II is implicit . Raj Plaza, LBS Marg
S Vikroli West, Mumbai — 400083

SPACE FOR ROUGH WORK

e ir. b LT

R ]
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ma; mﬁ@[fqﬁm qﬁmwml
"mma?té’l’s’lll o

" " AWARENESS . . i
(’A) AWARE .~ (B), NEAR
(e SENSE L T (D)

w3 o ¥ wE
’ ‘REFRIGERAJOR’
) (A) RANGER- (B}’CREMOTE

(C)\fRATION ) (P/REFL‘R

-3 e} sy gayiE R § 1 ey g i
dw}#mcﬁwﬁﬁ?}maﬂwwmg
'mﬁ:mwaﬁﬁﬁqwﬁrﬁrﬁx@?ﬂ###
i3-a1, af FY 8, &0 T we R ¢

38. YT .

| . sopEw ¥ oW S0. 9@ fmw A
[ ER &9 R |

. I wifmE el smads
£ y?ﬂ@ﬁﬂ%mmﬁm
|

(a) I 1 3G 2
\_,{.B)/ fgﬁrr—rn\?ﬁﬁl%ﬁ%

© iﬂfilﬂml'q'nmﬁlim%
) wﬁlaﬂtzaneﬁrﬁf@a?

139. %77 ;

ﬁqmﬁmﬁwmaﬁwm@f

ﬁg@; mmssaﬁms# mwﬁfﬁ'ﬁ?ﬁ‘ﬂ}% |

2. WA R R
m =
aﬁmwﬁ?ﬂ%r

-._,_"IL g et W AR

-_]ml @gmmmﬁwﬁgl
B ﬂﬁﬁ?ﬂﬂﬁ?ﬁ%’mqaﬂmt
R mﬂﬁmﬁm .

B B W Td
Wﬁﬁsﬁmmv
@ Wﬁﬁsﬁrm

FRT et 3 F @ T 2 o 8, 5 (4), (B), (C)
mm)ﬁm%mﬁgrfﬁ@r?:m#ah#
ar}s‘:ra,?s‘frcm??fﬁarnﬁa?marﬁfmmm?7

40. ‘R Mohan SB,
. Raj Plaza, LBS Marg
-« Vikroli West, Mumb:ai ~ 400083

(A) Rama Mohan S.B.
' . Raj Plaza, UBS Marg .
Vikroli West, Mumbai — 400083

il Ram Mohan B.S.
Raj Plaza, LBS Marg
} Vlkroli West. Mumbai — 400083

(C) Ram Moban S.B.
Ra; Plﬂza, LSB Marg )
Vikroli West, Mumbai — 400083

\(DL~Kam Mohap S.B.

v Raj Plaza, LBS Marg

___Vikroli West, Mumbai 400083

- - .
IS AT 6 SRETERO PSR
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I ] . % . . *
Direc’-_tian_’.a' : -{Q'ugeafion_q "'n_o:l 41 and 42). Select the-
h missing number from the given responses.

2. 7 8 _‘9 ay 1_'

189 288 © 90 ..

(&) 2 B) 3.

©) 1 D) 4

43.  If < stands for ‘', 4+ for %, ‘+’ for =/, < for

“+’, which of the [ollowing is correct ?
\(A) 30 410 - 12 = 8 x 12 = 46
“(B) 30xi0—12>;8+ 12 = 48

© 30+10x 12 48 - 12 = 44

(D) 80-10+12=8x 12 = 40"

—— T

44. Postal PIN codes of 25 letters: are '_gi'?é“ﬁ
below. The first digit from the 1éft indicates
‘the .zone. How many different postal zones
_ are represented in the given sample ?
| 101012 [ 221718 | 303051 | 221104 | 421015
310032.{ 101113 | 221018 | 230221 | 221054
308015 | 308012 | 221054 | 101012 | 221054
7| 111118 | 221054 | 210512 | 221054 | 101114
- | 210512 | 182114 | 128107 | 183115 | 610014
(&) 05 S ® 10 :
(C). 13 - (D) 04

45. :.f__Some_eqi:ations,ﬁre solved on the basis of a

ccertain system, On the same basis find out

- If 133 =70, 426 = 120, then 565=7
(A) -120 (B) 160

. (C) 26 (D) 135

|Directions : A piece of paper is folded and cut as
shown below in the question figures. From the given
answer figures, indicate how it will appear when

opened.,

46. Question figures :

Wt
<
00
(A) . (B) (o) (D)
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" the correct answer for the unsolved equation. -
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(D) 4

afg o e R e, v ad R ", "3’1 sk
?-? | 7% ?r
wiileRor wel @ 2

43.

45.

Yy ‘% "
R %/ q,\g>fr _
\/ : ol
A : (mmua&) ﬁ?’&ﬁw’?@ﬁ
mﬁﬁaﬁmﬂ z
9‘@ EXD)
9“1, @ 600
» - |
@ @ 24
e (C) \: 4 (D} 33
4 a2 7 Is. 9. G;}-"." 1
s \}9} ) 9 s s //"‘- >
4 S B,
1= 189 2887 90 %
L 2 (®) 3 ' “5.-.'
© 1

o, R et § A | S

| 421015 |
22054
226054
194114 -
5 |.610014

@ 13 °

Fo whew Bl R onel F emR W e
mnq%tmwm'ﬁqﬁ;qm
uﬁmmaﬁmwiﬁrﬁql

133 =70, 426 = 120, W 565 = 7
(A) 120 O oAm 160
(C.) 26 (D) 135
e : A9 577 gt ¥ Gam seR e @

r;?mmﬁwa?a#%maﬁﬁwmsma’m
E@#??HJ

) 30;10312f3x12:457(' i
.. 7 IR FlAA
(B) 303{‘_10—12x3412=48
(C) 30 ~10x12+8-12=44 'og
\_@/'ﬂn—wnz—a;lz 40
=1 X -
: 2 g A, R NSV A
T ' . % o1 & fore o’
e |0 e ' .
: Cals
i
; Y ¢
H 190 3122 _ uep! o
o N BRI L s
Y .Lsst“(n |74

~
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47, From the gwen answer figures, select the 49 If a mirror.is placed on the line -AB, t.hen
A ong jnl _whmh t;xe queshon figure -is'_ which of the answer figures. is the correct
5 h_]dd.fn"e.:.“be_dd-e,d-" it s ” image of the given questmn ﬁgure ? .
.Ques{z!op figu i Question figure :
W ; IA ‘
1 ——r !
1t 3
A 5
Fo 3
. B L Y LI I
o _ X i - B E =
; S W \ L , oy 5 o A{l&w‘?’: ﬁgures: . ¢
w . ®), k- @ -1 % ' % : ‘
A48, Wh1ch answer figure w111 complete the | | (A) . (B) ©) (D]_
queshon figure ? N '
Qu.esl.;'ou ﬁ_gure.' 50 Which of the. given diagrams correctly
[ represents the relationship among Flowers, i
J Lotuses and Roses ? : |
N . _ _ 3 '
O . f-
_ Answer figures : : .
(B) "
S T U space - FOR ROUGH V WORK .
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o " TEST - (ii)
y . # b g GENERAL AWARENESS

51. Who was the ‘Pol:hcal Gu.ru of Gnndhul ?
(A) Bal Gangadhar Tilak . .~

“ (B) Gopal Knshna Gokha]e
(C) Jawahar]al Nehru
() _A_Sardar Patel.

52 The Upanishads deal with
(A) Ritt;alé and tﬁeology ¢ : ' >
(B). 'Ier_i;t.ru'qar . '
() ,Ast'ro;mmy
(D) Philosophy

53. ‘Consumer Protection’ refers to

(A) Protection of the consumer From ‘the
. seller :

(B) Protection of ihe consumer From the
producer

(C) Protection of the consumer frofn the
dea!er

(D) Protection of the consumer  from
exploitation by the trade prachces of the
produccr/seller

54, thioﬁlﬁl " Consumer D:'spuh:s Rcdrc:SSnl
. Commnission'is located at "

(A) Munibai (B)
e - *(G}-*—New_"Bglhi“—

Chennai

(D)~ Kolkam

55.  According to the 2001 census, the population
of India was
(A) 100 crore (B)
(C) 102 crore (D)

101 crore

103 crore
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56. The Planm.ng Commission was set iip in the
year
A) 1940 (B) 1950
(©)1960 (D) 1970
157, : The shnre market. -comeés under the mntrol of
AR _RBL (B) cir
(C_) SEBI (D) NSE -
58. - The maximum numher of members a State
chm]atwe Assembly can have is
(A) 300 " (B) 350
(C) 500 (D) 400
59. How ‘many methods are there to amend the
Constitution of India ?
(A) One (B) Two
(C) Three (D) Five
60.. The President of India is electod by
(A) Parliament (B) Electoral College
(C) States (D) Electorate
61, 'I‘he Legislative Council of a State can- be

abolished or ereated by the
(A) Premdent of India on the
- recommendation of the Parliament

(B) Legislative Assembly

concerned

of the State

(C) Parliament through a simple legislation

(D) Parliament on the recommendation of

the Legislative Assembly. of the State -

concerned
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. (© Swis & ANl ¥ wee
v W Fofayfade @ e
fm%wamam
54. uﬁaaqﬂmﬁmaﬁammhﬁm%?
oW e (B) I

2001 H SO F (@R, ARG A

55.
\/::LW@H

fha-t @t 2
(8) 100 &8 (B) 101 Fg
@/102-3?(}3 (D) 103 &UT
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(A) —aid ‘qrrm-{ ﬁ:lm “- S (A) 1940 . . @1950 I’t)_ :
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— 6T -

"sz_.' ‘Garden Reach Workshop is famous for
A ' |
. (B)
(O

(D)

--R&ihﬁay éng‘incs
Autbtﬁoblﬂcs '
S]:up buﬁdmg
leway coacheﬂ
63. Name tBh Pala king who founded the
: Vikramasila Umversxt:y

(A) Dbarmapala

- © Rm;mg:'a_la

(B) Devapala
(D) Gopala

64. Amir, K'husrau, the famous Persian poet hved. '

. in the caurt of
,(A} R
'_(B)
(C
(D)

Ja.laluddm Kh:l]:
Na51rudd.m Khilji.
Mahnjmd Khilji
Alauddin Khilji

65. The ca];ital of India was’;_transferreti' from
Calcutta to Delbi in the year

(A} 1909 (B) 1911
(C) 1912 (D) 1914 : &
66. The famous speech “Swaraj is my birthright
and I shall bave it” was made by
(A) Aurobindo Ghosh
- (B) - Lala Lajpat Rai
(C) Bal Gangadhar Tilak
(D) Bipin Chandra Pal
“The - pl_aneté ~Mercury,—~Venus; —Earth - and { -
Mars are called
(A) Dwarf planets
(B) Inner p;lancts
(C) Outer planets
(D) Giant planets
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69.

71.

72.

73

74.

75.-

68.

i -.(D)_
70."

(D)

Pntmtary gland is located at the’ base of the
(A) Bram (B) Stomach’
(C) IGdneyB (D) Liver
) peﬁmq:Lcy of vitamin E results in
(A) ~ Seurvy .
(B).. Loss,of fertility
(6 Rickets |
Beri Beri
; ‘The animal  which uses tube .feet for
g Ibcomohor;s is o
' (A)" Jelly fish '(B)- Silver fish
(© Cuttlefish (D) Star fish
What instrument is -_used - to detect
“‘Tsunami’ ? . . .
(A) Sonar (B) - Echo sounder-
(C) Seismograph (D) * Vibroton i
Which one of the following minerals is ?
- contained-in the Monazite sands ? T
(A) Mica (B) Uranium
(€Y Thorium - (D) Coal ;
Spices are grown mostly in
(A) Malabar coast
‘ (B) Konkan coast
()] Cnrnm:‘mde] coast
Saurashtra“coast
'Wha-t 15 the name ai_"t}ie voice box of birds ? ‘
(A) Larynx :
‘{B)- -Pharynx ) :
(C) Syrinx Il
(D) Phalan ;
Respiratory organ of whale is

(A) Gills
(C) Lungs

(B) Air-sac
(D) Body surface
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67.

g‘f T, Waﬂlwnﬁaﬁwmm

(A) B'T?!rg
@ afs 18
(C) 9| ug
(D) I3 W

L]
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176,

28

78..

797

80,

__81'.-‘ a

Metadata is
(A) dafa contained in dnta marts
(.1-3.) _data about the data

(C)'-.used apeclﬁcal'{y for decision makmg

(D) - None of the above - - .

Thé ‘o:"gaﬁi_sm ivhich respircs through gills,
lungs and skin is

(A) Lizard o:3] ) f‘rog‘ _

(C) Sparrow (D) Ear't}iwonp'

The weight of a floating body is -

(A) greater than the wupthrust expencnmd

; by it :

(B) lesser than the uptlirust experienced by
it - :

(C) Zzero :

(D) depends upon the x‘mture of the hqu:d in
which it is 1rnmersed

Thickness of human hair is generally
measured in

(A) micron (B) millimeter

(C) nanometer (D) angstrom

In normal electric door bell we use
(A) bar magnet

(B) U-shaped magnet

() ﬁ-sbzi.ped clectromagnet

(D) needle magnet

Which ‘type of lens is usually .presmbed to
the people suffering from short-sightedness ? |

(A) Concave lens
(B) Convex--l-é_l';s
(C) Cylindrical lens

(D) Plano-convex lens
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82.

886.

(87.

88.

83.

84.

Which type -of glass is used for makmg |
_optical glass ?

(A) Soda glass (B): '_I__Flint glns_s_ :

(C) Ground glass - (D)_ Quartz

Tropical rain forests in India are mamly-

chstnbuted in

B\ EastemGhata .

(B) Western ._G_bata
(C) Vindhyachal ran ge’

(D) Non'iiem Himalayas .

Wh:ch of the followmg is an exhnct species ?
(A) 'Asmtlc cheet.nh '

(B) Andaman teal 3

(C) Asiatic huffalo

(D) Desert fox

A step-by-step pictorial description of - solv"mg
a problem is called

(A) a ﬂow-chgrt
(B) an algorithm
(C) a pseudocode
(D) Al the above

The inert gas which is capable of forming a
large number of compounds is

(A) Neon (B) Argon

(C) Krypton (D) Xenon

Which of the following does not contain’
carbon ?

(A) Protein - (B) Limestorié

(C) Fat (D) Rust

Which. of the following materials is resistant
to boiling aqua regia ?

(A) Polythene (B) Teflon

(C) Bakelite (D) Nylon-66
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89: . Which of the following is a .Cruise Mlsal.le 2195,

(A) Pnth\n

. (B} Saganka
fC) N1rhhay

il (D) Akash

90,  Which of the follomng has been ‘removed
from the UN list of unresolved disputes? .

(A) Arunachal Pradesh

" (B) Jammu & Kashnu.r
(C) 'faiwm . .
(D) “Dibet

91, The hook “Thc Zigzag Way" has been_

authored by

.

(A) Simran Sodhi

(B) Anita Desai

(C) Arundhati Roy

(D) Nikhil S. Dixit
'92. According. to India’s:

have increased by

(A) 1597% (B) 26-34%
(C) 35-81% o (D) 41-66%

93. " According to a report released in mid 2010,
highest density of tigers in the world has
.been found to be in a ‘Tiger Reserve' in

India, The name of tbe ‘Tiger Reserve is
(A) Corbett Tiger Reserve

(B) Kaziranga National Park

(C) Kanha

(D) Buxar-

94. The Rajiv Gandhi Scheme for_Adolescent

Greenhouse ~ Gas
. Emissions 2007" report, the Igreenhnuse gas
(GHG) emissions between: 1994 and 2007

97.

98,

99.1

~ Girls or -Sabla Scheme “launched  sometime |

back as a pilot project in 200 most Bgcl'("ward
districts in the country - will address the
nutritional and special training aspects of

girls aged
(A) 15 to 18 years (B) 14 to 17 years
(C) 12 to 17 years (D) 11 to 18 years
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100.

Which film has been aWBrdcd Na.rgis Dutt
Award for Best Feature Film on National
Integral‘.lun at ‘the 570 Nahonal Film
Awards announced on Sepbember 15 2010 in
NeW Deiln ?

(A) - Delhi-6
(B) WeH_ Done ‘Abba,

(©) Paa -
(D)- Lahore
Which one of the following famous sites has
nof. been matched  with its " location
corréctly ? : ' .

(A) Man Mandir Palace. . — Jhansi-

=¥

(B) Jahaz Mahal © .= Mandu-
(C) Dilwara Temples - Mt. Aba.
(D) Anand Bhawan —  Allahabad

Which one of the following is nof included in

. the list of the new seven wonders of the

world whieh was announced in Lisbon, the
capital of Portugal on July 7, 2007 ?

(A) Taj Mahal (India)

(B) Great Wall of China
(C) Pyramid of Chichen Itza (Mexico)
(D) The Stonchenge of England

Which of the following countries won the
World Cup Kabaddi tournament held in
Ludhiana on April 12, 2010 ?

(A) Thailand (B) Pakistan

(C)  India (D) Afghanistan
Who won the gold medal in 10,000 m in
Guangzhou Asian Games ?

(A) Sunita Rani

(B) Keglita Ml -~ - e

(C) Preeja Sreedharan
(D) Manjeet Kaur

Raja Ravi Verma of Kerala was a renowned
(A) Poet (B) Dancer
(C) Painter (D) Singer
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TEST - (i3i)

\ - GENERAL ENGINEERING

5 : (Mechanmn.l) : ;

101 For a flat open belt drive, the belt speed is |106. - The couphng wh.lch is the inversion of I;he :

: 880 m/min and the power transmitted is déuhle slidér crank cha.m is
225 kW ‘What is the difference between the (A) Flange couplmg
_tight side and slack side tens:ons of the helt (B) Oldham’s coupling
drive ?_ : ‘ ; (C) Universal couplmg
(A) 9090_;\[ (B) 6450 N . | @ Box couplmg B
(C) 1540 N. (D) " 1000 N § 107 The dlﬂ'erence between tensions on the hfr ht 3, ol
' e _ - _ and slack slides of a belt drive is 3000 N. If

+ 102. ‘The' power_transmitted by mezns of helt| . the belt speed is 15 m/sec, the transmitted
depends upon , : - power, in kW, 15
- (A) velocity of the belt TR Eg) 35 - ® 225
" (B) tension on the belt ' h % . W 200

.

108. T aximum effici
(C) arc of contact between the belt and the he maximum efficiency of worm and worm
; - wheel system is:
smaller pulley

A

; ) l cos¢
D) All of the ab ; (A = ; i
(D) of the above 4 ) W 1+cosd = %
103. Herringbone gears are - 1~sin 1]
5 B) Mmax = oot
(A) spur gears ; ' s
. e 1—sin¢
(B) single helical gears - () o Ty
& y - Mmex = T o
(C) double helical gears . _
o 1--tan n# i 104.
(D) bevel gears D) nqu = -1—+_t-a-n_: .
104. For an involute gear, the ratig, pitch c:rc}e where ¢ is the friction avgle. _
radluq/ base circle radius = 109. In gear drive, addendum equals ) A
(A} cos ¢ (B) sin¢ (A) diametral pitch
© sec ¢ (D) comsesd (B)  cireular pitch ;
i (C) module of the gear Aios
where ¢ is the pressurc m\gie. (D) 157 times the module of the gear S .
105: A structure made up of several bars, nvettod 110. The numher of links ! and the numbér of ?
 or welded together, is known as pairs p in a kinematic cham conform to the |-
, relation " 3.
(A) St.rnt {B)  Column : A 1= =L B I=2p-4 f
B () .Frame__‘_-‘_ (D) -Tie . .c .. (C) I=2p41-- (D) 1=2p- 1 i
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S (D) I T W 8 W) 1, = 1ol
Lo e
‘%03; mﬁmmg. (B) _n" 51'_-5'111‘:’
(A). T PR _ M Liessd
®) A Fehed fr b (©) Ty = 108
© f?g%ﬁﬁ? frm 3 1+sin ¢
(D). aer firw ' ) O G, o AN
- m“_ .1+tan¢
104. qﬁmﬁmmma@ma{mzﬁrﬁw/ R W Fur
ST g fiwar gt @ = 109: it 9w &, W=y wua drar 2
_'_(A) cos ¢ (B) sin ¢ (A) Y e ¥
:\FC) sec ¢ (D) cosec ¢ (B) q;ﬂ-q e X
sEl ¢ < For R (€) P ¥ wiggw &
- . ‘D) 15770 PR ¥ wiggd F
;3?5' m:ﬁm mmﬁm@aﬁna o Yaios jua o sigdl @ g 1 ok
; e ¢ _ ‘wﬁmme%aﬁﬁ%7
(A) ®Z -(B) FW_ (A l=p—-4 (B) 1=2p-4
i© W ) = C) 1=2p%1 (D) l=2(p-1)
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112.

113.

'Wh:tch - material has the hlghest value of

Poisson’s ratio ?

(A) R_u_bber-.' |
(G) Steel .

(®B) Copper
(D) Concrete
In order to pmduce bendmg and shear

stresses of equal magnitudes at the extreme
fibres of a émmlar cross-section under the

- action of comhmed bending and tors:on the-j .
. ratio of bendmg to t\mtﬂng moments must

j be

A 18 ® 1

= ) 2 m) 12
The ratio of Euler’s bucklmg loads of
columns with  same “parameters having

114.

115.

(i) both ends fixed (i) one end ﬁxed and the

other end free, is

(A) 1 (B} .4
(C) 8 - (D) 16
A hollow pipe of OD = 80 mm and

thickness = 16 mm is used as a simply
supported beam over a span of 2 m, What

maximum point Joad can be applied at the’

center of the span -if the permissibie
bending stress is BOO N/mm? ? .

(A) 4021 N (B) 4021 N
(C) 8042N (D), 8042 N

The ~ deformation per unit length in the|

direction of the force is known as

116.

©)

117.

©

118.

119.

A solid shaft transmits a torque T. The 3

allowable. shear stress is T. The diameber of 2

" the shaft is

16T ' 32T

A V77 ® . Y7t
4T 64T |

i ‘nT

ntT

A machine- part is dcmg-ncd as a ztrgt, whc'm
it is suhjected to '

A
(B)

an axial tensile stress
ai:e'.a;n'él compressive stress.
a tangential force

(D)

any one of the above

“The longitudinal stress in a thin (thickness

t) cylinder pressure vessel of diameter d and
internal pressure p, is

pd " bd
A) — By =
(A) z (B) 2
pd pd
Cy — e
( '} at (D) St

For a thermodynamic cycle Lo be irreversible,
it is mecessary that-

o
@ ¢ = =

©) 5[;@- >0. (D) 1,::3

(B) j?%’i.:o

20

(A) linear stress ‘

" (B) shear stress 120. The critical temperature for water is
(C) linear strain (A) 328° C (B) 347° C
(D) lateral strain (€ 3mC (D) 373°C
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121. First law 61‘ thermodynamics asserts that the

I'a]lomng isa thermodynamlc property :
(A) Entmpy
(B) Intt;mai Energy

© T@mpgraﬁﬁ;e'

122,

123,

(©

124.

125,

(D) Pressure '

For a cléséd"system the difference between
heat: added to and work done by thc systam .

is equal to-

(A) " enthalpy

(B) intarnal energy
Gibbs function

(D) flow work’

The. progéess of removing the burnt gases
from the combustion chamber of the engine
eylinder using fresh charge is called | '

(A) Knocking
(ﬁ) " Supercharging -
(C) Detonation
(D) -S'cavenging

Number of workmg strokes 'per ‘minute for a
two stroke cycle engine as compared to speed
of the engine in rpm, is

(A)  half (B)
{C) same (D)

double

four times

Quality of iém‘tiun of petrol is measured by
(A) Octane number .

(B) _ Calorific value ‘

©) Specific fuel consiumption

(D) Cetane number

126.

127.

.128'

- |129.

130.

"Functmn of blow- down cock in a- bmler is

(A) to mamtam water leveJ by drammg : o

- excess water -
(B) to empty the water drum ol' tbe boiler
(C) to remove sludge _a‘n!:'i'll sechmenta
- collec’uad in drum T .
(D) to blow oﬂ' stcam ta mamtmn safe
" pressu.re ' '
Lancashma hm]e_r is.a

(A) \mrhwl ﬁre tube h01ler

-{B) honznnt.n] ﬁre tube boiler
(C): vert:r:al watar tube boiler -

(D) hmzpn_tal ‘water tuhe boiler

The. steam in bcn]er drum is always
(A) saturated (B) dry

(C) superheated =~ (D) wet or dry

Curhs turbme is an example of

steam

(A) velocity compounded impulse
turbine ' _

(B) pressure -compounded impulse stesm
turbine .

(C)" pressure-velocity compounded impulse
‘steam turbine .

(D) reaction steam turbine

The recommended cycle for a steam power

plant is

(A} Brayton cycle
(B) Rankine gycle
(C)  Carnot cycle
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131. Hydrostatic law states that the rate of

132, .]:E;??a}s !aw stafa:as_ t:];;at pressure at a point (D) depends only upon. the head ~under
- s equal in all directions which the rnachme operates
: (A]: m ? e .?t re 187.. Which type o turbine should be used if the
- B mmde a solid -+ head on the turbine is more than 300 m ?
- {0) in alammar ﬂow . (A)" Kaplan (B) - Frinds
(D) in a turbulent-flow _ (0 ‘Polten ° (D) Propeller
133. The flow ‘of fluid through a pipe is laminar |.
when +(138. Orifice meter is used to measure
(A) the fluid is ideal (A) discharge
" (B) the fluid is viscons (B) -average velocity
{C) Reynolds number jsless than 2000 (@) velocitvl at a point
(D) there is a considérable lateral dispersion (D) pressure at a point
of smoke or dye mjected into_the flow |139  Select the correct sequence of the following
stream " parameters in descending order of mﬂuence
134. Each term of Bernoulli's equalion stated in oo tool life :
2 LS
- the form L + — + y = constant i Feed rate
w2 2. Depth of cut
has units of 3. Culting speed
(A) N © (B) mN/kg {A) ¥ 2 3 ) (B) 3.1, 2
©) m (D) mN/s © 23,1 @™ 8,21 '
135. In general, the vanes of a centrifugal pump [140. Which welding process uses a consumable
are electrode ?
{A)  curved forward - (A) Laser welding
(B) curved backward (B): Thermit welding
(C) radial (C) TIG welding
(D) twisted (D) MIG welding
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Increase of pressure in vertlcal direction is
equalto

(A) - fluid density "

(B) fluid specific weight

(©) fuid weight .

@) fluid specific granty

136.

Specific speed of a turbo machine

(A} is the speed of a machine having unit
dimensions

(B) relates the shape rather than sxze of the

¢ machine

(C) remains the same

conditions of operation

under different
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141 In a t.aper'tja.rning-qp'e’ratioh, ‘maximum and |146. For w}uch muchmes, are very large speed

mihimum diameters of the job are D’ and ‘d’ ranges required ?
. reapel::luvely What '.!.5 tbe tap91' anglc ]f t‘he (A) Dnﬂmg ) ; (B) Shaping
Joh]eng‘thlsL" o _
. oy ©- r__;rinding- () Planing.
{1_\)|2tg.n_1 [T] u : :
¥ & : 147. Which of the fol]omng is an example of
Y 485, o ' y Beml -automatic wcldmg protess ?
"(B) tant E—D d-] o - ]
Y & _ ) (A) 'I'IG weldmg
e D : (©) i e ‘welding (SAW)
: (D) 2 ta Al [P—f.cl] ’ : _ B - (D) Res:stanua welding ’
142, Welding process using a pool of molten metal ‘ '
g e I?gp wo S o 148. Whlch one Df the followmg manufacturing
g > : - ' processes reqhires the provision of “flash
(A) Carbon arc weldipg . gutter” ? .
(B) Submerged arc Welﬂmg ) : ) : &
- : ' : Tosed die forgi 3
(©) TIG.welding . [ - (M) Closed die forgirig
(D) MIG welding - - ' | (B) ‘Cenhifngal vasting ;
143. Orthogonal cutting system is alsg called 2 (C)  Investment c@sting' e 143.
(A) one-dimensional cutting system (D) Impact extrusion
(B) two-dimensional cutting system o
(C)  three-dimensional cutting syg_t,em 149. Solder is essentially a
(D) None of these - (A) tin-lead base alloy
144. In a shaper, metal is removed during " (B) silver-lead base alloy ) 144,
(A) forward stroke only - {(C) Dbismuth-lead base alloy
(B) return stroke only D) tin-silver base alloy
(C) both the forward and the return strokes e
(D) neither the forward stroke nor the 150. Hot tears are the result of which of the
return stroke - following ? ) .
145. Quick return mechanism is incorporated in a (A) Lower permeability 145,
@), Lathe mach’_me - " (B) Lower green strength ‘
(B) - Milling machine , " “
(C) Drilling. machine s> 4 g,
(D) Shaping machine - _ ' § (D) Restraint of contraction _ ; 9
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